o(0 @) (rad)

Ratio

Ratio

=
<

a(d cot(d))

L. ghl&fl. ] [l [ abTLT
il B : B :
L LT LB #4 - el T LEE- - -
b : d § :
4| 44 : I : s %
- y rife 18 44 HH - - -
¥ les . y
: 14
il |
107 : i o
o LI UMMM WAL o103k . | .
r q g B © o H 8 f f B
1 E 4 | 8 o 15 -: AR (D N 1 N |
5 A AL ; N ATRE Iy
ost-- Il A 1 s
C ] b o g f B \
23

0 1 2 3 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

|
w

|
N

—s=— DQM_V0001_R000000001__Global__CMSSW_ckfnocut2_RECO
—e— DQM_V0001_R000000001__Global__CMSSW_mknocut2_RECO
= 1 =~ 1=
= C = E
5] - o L
2 C e £
> o - ~ B
¢ I o l s :
° L
S L : 5 : :
° : : -t L
4 [ 10_1; IR e
ol L 7 ECT LR el L C: i
10 Coo i ERTELI: g Fla | LETH [: ;
C ] [ [ 'ﬂ., {119 44 . S -
C L EHTH T H f
I 11T b » T
L AP R - A L L
r o I :
B 1072:— HH VR
10:2_::::!::::!||||I||||I||||I|||| o :uuuu!uuuu!uuuu!u
E ] | i o ] i (R R 1
1 NN T o E : ; j
o.5f---JHHA R 1R EHHE b - of---{f-++ e A IR i { AL
-3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

=

0P /P,

.
1 |
: s o
- St - - - - [ -+
R : [ :
: £ : .
b
o o v

107 et e R e

l.... 4
. | JLLLLLLL ] |
£.0F

I e
oo {1 113111 VE1| Y .8 S
0551:41; uilILERIN

=3 -2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


